/64“4054 Exéfww
b sobr e bawa

Detinnm Coblsd
e
4Cc) absol:i! max - ) S FCe) For oM % vh dommmin A F
$Cc) abiokfe v FH) 2 FCe) Fov M X G Aomsin o F
Basc Pictumes ;J(‘ Me¥ wers x
Xo$? T e ¥
! = ’
— e
._,/ t-. \J/
- . /l
c /
Remowib-
4Cc) obsokht wax =D Flc) rAdtrve moarx =5 ¢ crbicd awwber
Extveme Volur —Tleovem
4 - Conkinmow Fuudtion o  choseh kool Cavd . Tl #
hes beth an obsolhr Wax omol o0 absoluAr  mia.
it beobkT
h(ﬂ k
~ Miv & M
/\\E/
J = ¢C9'-)
I o N

o on oloced sdevel Tl vesulk

s on Pt

Remork L1 F not  Ccowhaucws
/ - .
‘:/7 be bace. Fov &l’wa : ’4 cowk uruon
4w

widdl not hecessav
Ca b) - i
ok s Y e amsorte =

e 2
No % e
'/*\ /

= b -




fiud“:“'} Abrolte Mok /Min on Clotrod L Aevval
\

( 1 codtuanons omn Ca,bj)

'/ Cod chokr  41(x).

A '4'2 =0 ke .
2 Find oM Cribed usdos / #) ( s s crikicd)
B, t/¢) DVE

‘:,L Y/ crib cd numboes

3 E\/abuuéc -
u/ Logere valus Swallep vebas o abiolhe
7

ahsoluft  mo¥.

min.
2 2
Locomp e 4wy = oz - 6% W [C-1,8J
S/. . <
'/ 4 (1, /3 > —’3 x 3 - -’3 A - 3 x|,3
7 32 |
/ - _ 3 _ A _
2 A/ #lemz=o = L g = 3% =o
= .:3/' 9!.;/3 = 32 ._l.r-
3 e 1 ®'
S, [
S Y
=% X /3 X 2 = LF
=5 xt= b = x = X 2
By #' wlifmed o oo D T
&
= m [", 87 Cried GUmwbea one -l,0,7, §

-5/ -4("’) == (S
*(Co) o
1(2) = -19-05

{18 = 192

U 402) chedke win  omd  F() cbidob wox
Q, : Com we Finek absowte uax/u.;u 7'-7' 4 ¢ noet  on & clesesh
),

(,.,.MJ?
EXM’&. 4’(7') = = PN ( —oca, )

(Fs o €& asuad  Sign analgprio Co Fad pldT0 2vpyewa.




1'tx) = 2=x

A/ 4lx) = 0 = 2x =0

= =0
B/ 1/ Cobeuony Wul/]../kyc 4,(0_)

\> ot/ /—' 1 w

—

41("{)'—"z<° 4’(/)')2.?0

= $(0) yd. min.

Nob'e {Lo?jl\. that F o a(ﬂov-(an'g o (—o8,0) awd

ouw (0, %) #C0) most be on  aksolhe

u'awca@

min
i ZJ ==
) - 'A;Wl-,—;y\
I 4 4
|S~ apsomte win
Criticd Poi ot “Tlaovoimn
4_ — coakornaon Suniiouw  on wtrvad | Arssume Hlowt w6 o

- N y end posuAs T
Single cwilicel numbe, w L Cevol«aﬁey poiuAs),

ENE

G ¢ = ) Absoukr Mox
e
— ¢ + =  Flc) Absolde Min
] ——————
. _ Y 3 (2

A L 4 apsobdt  mex[win o (A = 3IzT-Ux-N2Fe2
E>omp Fin
ow CO, “)~
Gler) = Jzx - 123" = 24% = j2(a} -=xt-2x)

= /2 x (’t""""ﬁ-/ = 23 (x4 )x=-2)

A(/ Flex) =06 D 2= (x+t1 ) x=2) =0 =D =0, —-1,72

B/ 4,’ conk uiuovz M?JW‘ o CO, 66)



Jahwad
#o) 4'(x)

v/ +

F'G) 2y b o se

tc)= 9212 (- <O
ari

D Yl2)  chwslkt  mi m  [0,) _ Der )
/
'(u(x]
Exomple  Thy  aksolhe  max/min ot HZ) = T
1
u(+) ulcta) = —
=z — = Tu (=) , vix) = x = >
4= S5 o W = ) >} ren o soa
= Flexy = witm vix) - wexdviex . -—'; Cx? - Auloy . 3T
v(-t)"'
(v (=) s
= xq.("' 21“"’) J- I tu ()
¢ T Xy
v,
Ay 4'tx) = 0 J« 3€u(x = o = »{“(1)=__': = x=e?l
3/ ﬂ’ cowt i v ove Woﬂw““’*— (4g] (°/°°)
v H's) Aitined
$'(
A =x)
+ < —_—
o . J- tuted -2
#’[C) = T = 7‘“ < o
) ]
4’1(0./6)= - 34uce’®) [~ 2 '
Yy - =
¢ e eq" .e_'-l/e e

5) %({'/3) abcobir  mex.

ZWWA One Can Aso fvw’# usL Sli/u M&% Co Yol

abs gl e mox fmin h/l.v,m '6104/-—2. I.S hove flau one

coitize]  uvwbee |

t: b £
ﬂ-ﬁ“d ahsslhr o [nai, F FH*x)=324_ ux‘—nz’u—z ou (-—e0,=)



Glen) = Jexd- 123" - 24x =

12¢x3 - x* —2x)
<
= j2x (x*-x-2)

-
-

2 3¢ (x4 )(x-2)
5,/ Hlex) =0 D 2= (x+t) x—=2) =0

= =0, —-1,2
1Y 4! cotuinors wa../ow. o Co, =) d,’h.u“
d 42)
g 1) it 40o) Adhwad
5
l / / \ // %' (#)
;-'(—L,_h 2.4 -35. #'GG) =12.3-4 120
1‘(4):’[;._1___1 ey i((l)_-,_'z "z._‘<°
= $(-1) , F(=) redobive  Uein
4 ole oy —“ C‘ -
m_ ° <, =1) Ertl Fe1) w 200
O A _b - eJe_;oMQ PO
1/ l;“-Ma’i“J on CZ, o )
(—I) = -3
* = Hz) eabsolAn 4
1¢2) = =3

d F ou C— o ,00

We counol pleltesiive .:? €Cloce w0 an abc b won o nrt based

& > M’L

/ - ° . N $'(x)
T W?‘
ab’kc
2 2 Mos
oM
M pﬁe\i}v
3 . Sy / e
. .' U -
\V/ S
No alos sbte ~




